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mig |MRE| 5 | AF | BiAdH) 75 R&E  |MEE BS| A5 | BAy) | FHEERERSD
24 i3 2 489| 99,000 BE%E i3 77 73| 159,500 |
LY i 2 490| 137,500 B2 i 84 133 518,100 |&]
4 i3 2 564| 159,500 w2t k3 86 107| 363,000 |7
24 i3 4 724| 200,200 HEHA i 86 97| 277,200 |F
24 it 4 786| 284,900 BEE Ji:3 89 127 297,000 |F
24 it 4 872| 319,000 B2 i3 91 120| 309,100 [F
LY i3 5 852| 289,300 B2IE i3 92 165| 541,200 | ]
24 It 5 852| 308,000 BEE Ji:3 96 115 300,300 |F
E i3 6 571 126,500 w2 i3 98 123 332,200 |
LY i3 6 802| 271,700 BE%E i3 99 105 287,100 |F
24 It 7 712| 223,300 B2 Ji:3 100 141| 346,500 [F
E i3 7 718] 160,600 HEFE i 103 122| 280,500 [F
LY i3 7 729| 155,100 BT i 104 120] 352,000 |
24 It 7 869| 280,500 HhEBEE I 105 120| 277,200 [F
4 i3 10 676 160,600 HEE i3 105 114] 269,500 [F
LY i 12 763] 163,900 BRI i 107 135 357,500 |
B2 i3 110 127| 385,000 [A]
ERR i3 123 145 331,100 |
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migd MR F5 | AF | BAd) i&E
4 [ 2| 426] 482,900 |3EiR4 @ itiE N—
EhES k4 3 471| 313,500 migs  |MRE S| ARE | EdsH) |k
mE k3 3 506| 341,000 |$FIE4E XM k3 2 651 630,300
e i 3 519| 299,200 |#FiR4E Tt i3 2 656| 638,000
M4 it 4 496| 237,600 s It 2 673| 661,100
me i3 5 507| 319,000 |#EiR4 M i3 2 677| 660,000
e i 5 530 412,500 |#FiR4E Tt i3 2 770| 803,000
M4 it 5 747| 466,400 g It 2 770| 805,200
me i3 6 489| 365,200 |#EIRS XM k3 2 774| 783,200
e i 6 507| 320,100 |#EiR4E b i3 2 781| 793,100
M4 it 7 581 319,000 g It 2 785| 826,100
mE i3 8 481] 222,200 RS i3 2 797| 812,900
e i3 9 430 97,900 s i3 2 804| 825,000
mE It 9 492| 126,500 XM it 2 862 858,000
mE i3 10 547| 363,000 RS i3 2 869 860,200
e i 11 536| 216,700 g i3 2 870| 858,000
M4 It 13 467| 160,600
mE i3 13 497| 221,100
EIES i 14| 443| 138,600 OF4E sk —
mE k3 14 465 148,500 migd  |MRE BS | ARE | EddH) &
m4 i3 198 244| 464,200
ks i 198 232| 451,000
X BELTWORRIETERIFTT. EIES i 195  201| 408,100
X ERREERERTLTOET, 4 v 304|  212| 166,100
ks =8 302 213| 167,200
mE J:3 94 105] 295,900




